1 01

@300

N-028 N-029 N-030 =1: 40 101
4. 487 4.582 4.181
J ) 8 J ) 8 J ) 8
4460
/ S
o g (e} (e} (e} OOO (e} OOO (e} (e} o o]
r1 D22 L:4580 0@105 yO O\ O, OQO (e} O%O (e} O o g 8
r2 D22 L=4210 |@150 g / S o ey
o, Lo al q
r3 D22 L=1500 @ ™) 2900 = b\\
r4 D22 L=2610 15° 0 35(D
4 3D 3600 4 3D
430 430 430 re D22 L=3770 gn§0,§ L
o 3600 o 3600 o 3600 g 9 © 403500 o
N N N N B N
< < < P9 ™ & P9 <
9 o o r5 D22 1=2220 ||@50 I [N~
A [ [ ™M
o™ ™ ™ ™
r7 D25 L=4820 |@15
. 2.577 - 2.522 - 2.400 P9 S
r8 80-D16 L=6000//@300 1
- g — g - g 5 15 —
AN AN AN Al Lo
4460 4460 4460 3 0/l | Q 30,
r9o D16 L=470[0 @30 | 3 o !
o o o [ e g o o d o o omlkz o o o o e}
\9' 9‘ 9‘ oLl Q7 0 0 Qe O O .0 O O O SOTD\OOlDOOOOOO q
o o o ri10 15-D25 L=6#00—@39F ESD’.W } T
oS gos 5 e A5 oS pos o g | 8\ oreg
L 5060 | \ ]
5440 5440 5440 ri2 D16 LaKOOO @200 \ r13 D13 L=5000
r11 D22 L=2750 @150
S
o (o (e} (e} o] (e} (e} (e} OOO (e} (e} o o] 1600
rl D22 L:4580 /O ] O O O O%O (e} O o g ’_ =“ 1600 =“
r2 D22 L=4210 S
r3 D22 L=1500 x\: r D22 L=421[0 r2 D22 L=421|0
350 35,0
r4 D22 1=2610 i - r1 D22 L=4580 - r1 D22 L=4580
(o] g % %
o q 8 8
r5 D22 L=3770 ] g | 3733 Q | 3733
35/@0 — .
re D22 L=2220 o
r7 D25 L=4820 @1, . — N r7 D25 L=4820 i N r7 D25 L=4820
o (@)
r8 D16 L=6000 @3&& = 3690 3690
S A
p ;m\j\ﬁ_ﬁg re D22 L=3770 rs D22 L=3770
| Q | I I
ol (0] (0] fol (0] (0] (0] L) o] (0] (0] (o] o
3! I 1550 | 350 1550 | 350
r9 D25 L=60G00 @300 -
QIO ~O0
8 2 3




